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NOTE: Write answers to the questions on the cbjeclive answer sheet provided Four possible answers
A.B.C and D lo each question are given. Which answer you consider carrect, il the corresponding
circle AB.C or D given in front of each question with Marker o pen ink on the answer sheet proviged.
1.1. The leaves with very small surface area, are found in
{A) Hydrophytes {B} Mesaphytes (C} Xerophyles r_,"’ (D) Sciophytes
2. The compound which take part in urea cycle is: g
(A} Adenine (8) Guaning (C) Criruline ,fj D) Thymine
3. Osteomalacia includes a number of disorders in\-‘hicn nDONes receive -naéequaie.
{A} Waler (B) Oxygen \l <) BFGUUf-"I (D) Minerals
4. Each A-band has a Iighter stnipe in ils mid sechon ca ed ;
(A) A-Zone (B) H-Zone o (€) Metdne (D) Z-tine
§.  The receptor cells of pianarna are sens tive 1o hy
{A) Light and pressure .\t 8} g{r;ghl, pressure and touch
(C) Touch pressure and chemicals I\{D}'anghl_ prossure touch and
6. In nature Prao (o Pes Conversion oucurs in:
{A) Dark {B} Light l’\j Marning @Eveqir\g
7. Lutenizing hormone in humar female induces: ;o\
{A) Mensirualion {B) Menopause ‘ {C]\:_}cgenesi o (D) Ovulation
B. The branch of biology which deals wilh the study of abnbdrmal d felo s
{A) Morphology (B) Embryology ;-’ [C@ {D) Peratoiogy
9. The genelic code for glycine is: i
(A) UAG {8} GAU o U (D) GGU
10. inturner syndrome the atfected person have se 6
(A) XO {B) XX¥ ) XYY \\ (D) XXO
11. The leptotene ard zygaotene 'asts for
(A} few hours {B) f {C) few we \5 (D} few years
12. The malurity on sel diabeles of the s l".
(A) An autosomal recessive (B) An aulosomal dominart trait
[C} A sex linked trai (D) & sex ml‘lue:ncad frait
13. The organisms usged asbi 1S Y
(A} Transgenic p B) Transgenic amimal (C) Transgenic baclena (D) Transgeric virus
14. The foral parts ing plant are
(A} Ho (B) Analogous (C) Smvlawr (D) Dilferent
18. n
biosis {B) Commensalism (C) Parasilism (D) Predation
16. The age rainfali in lemperale deciduous forest is between:
(A) 700-2500 m.m {B} 700-B00 m.m (C) 700-1000 m.m (D) 7001500 mom
17. The two main causes of arr po'lution are industnalizattor and:
{A) Automobiles (B) Urbanization {C) Deforestalion (D) Overgrazing
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2. Write short answers of any elght parts from the following. 2xB=16

i Differentiate between pyrexia and pyrogens.

i Whal are behavioural adoptations lo regulale hea! exchange between animals and environment?

i What are excretophores? Give an example iv. Define lurgor pressure. Give ils two functions

v What are collenchyma cells? Discuss. vi. Define nastic movement Whal s Thermonasty?

vit. Differenliate between Menstrual cycle and Qestrous cycle.  viil. Whal are test tube babies? Discuss.

ix. Differentiale between climate and weather x. Discuss nrnduclivaqf of aquatic ecosystem.

xi. Differentiate between herbicides and fungieides v #il. Whalt is the 7 :::-.I!f: layer depletion?

3. Write short answers of any sight parts from the following. / 2xB=16

i Write commercial applicatior. of cylckinns ii. What are he irclions of oxylocin kormans?

iy Give the role of insuline and glucagon \\:iv Define linka IIaﬁ:l give its one d:sadvartage

v. What do you know about gene and locus? W Define Law'of segregation.

; ; A )
vit Write down the lreatment of cancer through gene therapy | wvi\What ar bioreaclors?
\ /

ix. Wrile two uses of PCR, x. What gre rool nodu'es? Give their i

xi. Compare population and communiy and give their example. i D.é{l e ammonil:cation and assi
4. Write short answaers of any six parts from the following. 2x6=12
i. How aging can be slowed down? vﬁ:walﬁre melabnlnc ane example.

ii. Give the role of mRNA and IRNA in translation.

iv. How do histone and DNA interact with each other in nu cieosun'e

v Give two limitations of DNA polymerase 'l in DNA replical no

vi. How does cell death help in development of multice!luiar orgam

vii. Wha! happens during diplotene slage. & ngtic drit ard gwve its effect.

ix. Write down the measures for the preservation of enda

NOTE: Anawer any thres questions from the f 8x3=24

7. (a) Describe any
{b) Define polt
8. (a) Comp e reproduction wilh asexual reproduct:on

ote an Air or Alomospheric polluticn.

( ocess of sex delermination in piants ang yeast

9, {a & a note on the development of chick uplo gastrulation stage

A B b b B B B B & &

{b}) ss naltural selection and artifical selection
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